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Tiel Tie2 | Tie 3 Supports
Triple | p— o0 o0— q | p— ¢ | Balance | Balance
' 4 o + + + ves supports
PPN + + - no supports
PRP + - . 2 no supports
PNN + - - ves supports
NPP - + + no contradicts
NPN - + - yes contradicts
NNP - - + ves contradicts
NNN - - - ves/no | (supports)
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[ Number of plus-sets 1 2 3 3 10 11 12
Criterion function 12 2 1 1 8 9 10
Number of partitions 12 4 4 11 1 1
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Number of Minimized value of Number of
clusters criterion function partitions
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Number of Minimized value of Number of
clusters criterion function partitions
The k-balanced graph

1 7 1

2 1 1

3 0 1

4 0 1

5 i 2

6 2 1

The k-imbalanced graph

1 4 1

2 1 3

k) 1 3

4 2 6

5 3 4

6 4 1







Number of Minimized value of the criterion function

clusters Scene one Scene two Scene three Scene four
1 1.0 1.0 15 L5

2 0.5 0.5 0.5 0

3 0.5 1.0 1.0 1.0

4 1.0 1.5 1.5 2.0
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Affect ties among 18 actors at three time points

Table 4

3 -2 -1
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14 Hugh
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Number of Time Points
clusters T . A
1 485 43.0 470
2 215 16.0 125
ki 17.5 11.0 105
4 190 13.5 12.5
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Actor w Actors

T 2 7 12 14 1516 |3 13 17 18 |4 5 6 & 9 10 11
T
John Bosco 1 - | 1 2 - - 3 -2 -3
Gregory 2 3 - 1 1- - + —3.=3 A voop -1
Mark 7 « 2 A a i 3 S S -3 -1 -2 1 5 A
‘Winfrid 12 3 2 I =1 -« - -3 - =2
Hugh 14 3 - 2 -2 + =3 -1 - . -2 1
Boniface 15 3 2 - - 1 - =2 =3 =f =1 : .
Albert W 1 2 3 LR Rt W S S
Basil 3 2 3 . Tt |-t - - =3 =2
Amand 3 --3 1-1 i « 3 s 2 =32 ¢ .
Elias | : 1 1|-3 -z - -1
Simplicius 18 2 3 1 =1 e “1=-3 - =2 .
Peter 4 -3 -2 . -1 S T | 2 -
Bonaventure 3+ -+ - L | u 3 » =+ = » & 7
Berthold 6 1 -~ =3 =2 - 3 Koo v 3 -1 2 d
Victor 8 3 2 = Qe | =-3 =1 - £ L |
Ambrose 9 g " e 1| =3 » =2 =1 2 i
Romuald 10 2. * *  ® % y - 1
Louis 11 2 -1 =3 =2 3 1
Ty
John Bosco | - 2 - * * =2 1 =+ &3 :=3=]
Gregory 2 3 ~ 1 2 +«1 : -1 -3 - - =2 - o+
Mark T 1 2 nw o 3 LI =3 =+ =2 =1
Winfrid iz 3 1 - A v|=3 - =1 ' =2 e ;
Hugh 14 3 1 1 -2 | -3 - - =2
Boniface 15 2 3 1 -2 -3 -1 . | S |
Albert s - 2 3 1 - -1 =+ -2 -3 - +
Basil 3 3 -1 ] 1 12 « =2. -3
Amand 3 --3 1-1 i - 3 . 2-2 - 2
Elhias 17 1 : 2 - + 3|-2 -1 -3
Simplicius 18 1 - 2 3 -3 . =2 -1
Peter 4 -2 -3 - 3 2 1
Bonaventure 5 2 - - - . i - - 1
Berthold 6 1 - - =2 -3 3 =1 2 -
Victor B -2-3 ' =1 o i -1 - + 2
Ambrose B 2 -3 - =2 =1 I T =
Romuald 10 - - - * L 3o .
Louis 1 -1 -3 1]=-2 - 2 3




Actor id Actors

I 2 7 12 14 1516 |3 13 17 18 |4 56 8B 910 11
%
JohnBoseo 1 - -2 -3 1 2 3 = . B |
Gregory 2 3 . 1 2 v . =1 , =3 -7 .
Mark 7T = 3 = 1] 2 : -3 . =2 -1
Winfrid 23 2 1 . . . TN
Hugh 4 3 - - 1 =2 e =1 -3 -2 .
Boniface 15 -+ 3 1 2 " =4 =5 -1 - S
Albert 16 i 2 - 1 =1 & =2 =3
Basil 3 3 -2 - - -1 2 1 2|=3- =2
Amand 13 - =3 1 =1 . S 3 - W S
Elias 17 L =~ = 2 - o el S S
Simplicius 18 ) 2 3 - |=1- =3 =2"
Peter 4§ =2 =3 -] - 301 L -
Bonaventure 5 - - - ‘ . . 3 - v 1 v 2
Berthold 6 -1 -2 % =3 -2 3y = =12 ]
Victor 8 -3 - - -1 -2 S 3i- 2 -1
Ambrose 9 C 2 @ =3 & =F =1 I (I
Romuald 10 - - = e e 31 -1
Louis 11 -1 -3 1 - -2 - v 2 3 :
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